Edition 2011/2012

Truck @
Division

Gasdruckfedern

Gas Pressure Springs
Ressort pneumatique
Resortes con presion de gas
Ammortizzatori sportelli

e Schnelle Teilefindung Uber Abmessungen.

¢ Fast finding of part by size.

* Recherche rapide grace aux dimensions.

¢ Busqueda rapida por medidas.

¢ Veloce identificazione attraverso le dimensioni.

www.febi.com

bilstein



www.febi.com



Inhalt - Content

www.febi.com

Unternehmen - Company
Kooperationen - Cooperations
Katalogservice - Catalogue service
Katalogleitfaden - Catalogue guide
Eigenfertigung - In-hose production

Unser Portfolio - Our portfolio

Evobus

MAN

Mercedes-Benz

Scania

Volvo

Ref.-Nr. > febi Nr. -

Ref. number > febi number

febi Nr. > Ref.-Nr. -
febi number > ref. number

Symbole/Ubersetzungen -
Symbols/Translations

Vi

Vil

XIvV

1-11

12-16

17

18

19

20 - 21

22 -23

Schutzgebuhr - Protection Costs 2,55 €




Losungen ,,Made in Germany”

- weltweit zu Hause

Mit mehr als 20.000 verschiedenen Teilen im Sortiment

bieten wir ein stetig wachsendes Komplettprogramm
flr die professionelle Fahrzeugreparatur aller
géngigen Modelle.

Kundeninteressen im Fokus

Bei uns als starkem Partner von Handel und Werkstatt

haben Qualitatssicherung und Service-Orientierung
oberste Prioritat. Daher finden Sie bei febi nur
Produkte in geprifter Erstausristungsqualitat.

Zukunft im Blick

Als Lieferant und Hersteller nutzen wir unser lang-
jahriges Know-how und modernste Fertigungs-
technologien, um den steigenden Erwartungen
des Marktes jederzeit zu entsprechen.
Kontinuierlich investieren wir daher bei febi in den

Ausbau unserer Eigenfertigung, in Prifeinrichtungen
und Maschinenparks. Denn nur so kdnnen wir unserem
Anspruch und den Erwartungen unserer Partner an
eine Uberzeugende Qualitétssicherung gerecht werden.

febi bilstein Mehrwerte

e Erstausristungsqualitat

e |odsungen ,Made in Germany*

e Herstellerkompetenz

e Triple-Checking-System

e Technologieflhrer

e Lieferung ,Just in time“ in 140 Lander

e

Approved supplier
to febi bilstein

®
i bilstein |

www.febi.com



Unternehmen - Company

Solutions ,,Made in Germany”’
— at home all over the world

febi bilstein is one of the world’s leading manufacturers
and suppliers of passenger car and commercial
vehicle spare parts in the independent aftermarket.

With a product line of over 20,000 different parts,
we offer a complete and constantly growing range
of professional vehicle repair products for all current
vehicle models.

Focusing on our
customers’ interests

As a strong partner to the vehicle trade and work-
shops, our top priorities are quality assurance and ser-
vice. This is why you will only find products of tested
original equipment quality at febi.

CERTIFICATE Cf@'é?@)

Managemaent system as per
DIN EN IS0 9001 : 2000

i scrmesimce wth TUN CERT procederes, & 8 baesoy carillnd hat

®
Ferdinand Bilstein GmbH + Co. KG -
Wilhelmstr. 47
55256 Ennepotal e
Garmany bilstein

.

C. Brdudigam
Tl i oy Emen, zcrn
TV NG CERT Gt

1AA LAAWR

www.febi.com

Looking to the future

As a supplier and manufacturer, we use the know-how
we have acquired over many years and state-of-the-art
manufacturing technologies in order to meet the
growing expectations of the market at all times.

For this reason we are continually investing in the
expansion of our in-house production, testing
equipment and machinery at febi. Only this way are

we able to fulfil both our own requirements and our
partners‘ expectations in terms of credible quality
assurance.

febi bilstein added value

e Original equipment quality

e Solutions Made in Germany

e Manufacturing expertise

e Triple-checking system

e Technology leader

e Justin time delivery in 140 countries




Kooperationen - Cooperations

Das A-Team
— Automotive
Aftermarket Alliance

Drei Spezialisten - eine
uberzeugende Partnerschaft

Seit 2009 ist febi bilstein Teil einer leistungsstarken
Partnerschaft zwischen drei der fihrenden

Automotive Suppliern. Gemeinsam bietet das A-Team
|6sungsorientierte Komplettpakete fiir Ausstattung

und Service von freien Werkstéatten. Ausgerichtet auf
deren spezielle Bedirfnisse vereint das A-Team die drei
Bereiche: Diagnose - Ersatzteile — Werkzeuge.

AVL DIiTEST - per Diagnosespezialist setzt

mit seinen Produktlésungen zur Kfz-Diagnose und
-Messtechnik neue technologische MaBstabe.

GEDORE ¢ KLANN - per Werkzeugspezialist

gehdrt zu den fihrenden Herstellern von Spezialwerk-
zeugen fur die professionelle Fahrzeugreparatur.

The A-Team
— Automotive
Aftermarket Alliance

Three experts - one winning
partnership

Since 2009, febi bilstein has been part of a powerful
partnership of three of the leading automotive suppliers.
Together, the A-Team offers complete solution-oriented
equipment and service packages for independent
workshops. Tailored to their specific needs, the A-Team
combines the three areas of: diagnostics — spare parts —
tools.

AVL DIiTEST - The diagnostics specialist is setting
new technological standards with its product solutions
for motor vehicle diagnostics and measuring technology.

GEDORE ¢ KLANN - The tool specialist is

one of the leading manufacturers of special tools for
professional vehicle repairs.

AVL % 2

. (GEDORE)pZ

DITEST bilstein

KCANNWY/

www.avlditest.de - www.febi.com

- www.gedore.de -

www.klann-online.de

— 1 The A-Tear

Automotive #Aftermark

www.a-team-alliance.com

www.febi.com



Katalogservice - Catalogue service - Caractéristiques du
catalogue - Caracteristicas del catalogo - Servizio cataloghi

Unser spezieller Katalogservice fir Sie:

Our special catalogue service for you:
Spécialement pour vousm notre service catalogue:
iNuestro servicio especial de catalogos para usted:
Il nostro speciale catalogo di servizi per voi:

Passgenaue Anschlusselemente
Precision fit connecting parts
Elément de fixation de qualité
Elementos de cierre exactos

Dichtungspaket mit Doppeldichtungen

Sealing elements with double seals

Etanchéité par double joints

Paquete de juntas con doble junta

Pacchetto delle guarnizioni con guarnizioni doppie

febi Gasdruckdampfer sind fir
100.000 Lastwechsel ausgelegt

febi gas struts are suitable for
100,000 actuation‘s

Les vérins a gaz febi ont été
testés au dela de 100 000 actions

Los amortiguadores de febi son
creados para 100.000 cargas

Gli ammortizzatori a gas febi

sono adattati per 100.000
cambiamenti di carico

www.febi.com

Elementi di connessione adattabili

Kolbenstange mit nitrierter Oberflache
Nitrate-coated piston rods

Tige de piston traitée

Pistén con superficie nitrada.
Barra pistone con superficie nitrata

Rohre mit Wandstarke 1-1,5 mm

1.5 mm thick tubing

Tube épaisseur 1 et 1.5 mm

Tubo con refuerzo lateral de 1-1,5 mm
Tubi con spessore parete di 1-1,5 mm

y




@

Benutzerhinweise:
ubersichtlich und einfach

Im febi Katalog befinden sich folgende Angaben:

Vi

Fahrzeugtyp (alphabetisch aufsteigend sortiert)
Modell

(alphabetisch / numerisch aufsteigend sortiert)
Einbauort

febi-Nr.

Zusatzinformationen (z.B. technische Informationen;
Abmessungen

Referenznummer

Foto

passend fir (1o &t &
o Evobus :J o
Gasdruckfedern
945 pressure spring bilstein
:IE passend fiir to fit @ @
—S 416
BM 629 Kofferklappe baggage-compartment lid 24803 420 N; Lmax 750, Lmin 406
Kiforkligge EgEagR-companment id 24805 520 N; Lmax 750, Lein 406
Kofferklappe baggage-companment lid 28361 500 N; Lmax 738, Lmin 430
Kofurklaooe BagEage<omEariTent d 20352 100 N: Lmax 350, Lmin 175
Kofferklappe: baggage-companment id 28358 1050 N; Lmax T35, Lmin 432
Mctortlappe engne bd 28388 TTO N; Lmax 756, Lmin 443
‘Warnurgsiappe sarvice hd 26353 200 N; Lmax 348, Lmin 175
‘Wartungsilappe service bd 24803 420 N; Lmax 750, Lmin 406
BM 832 Kofferklappe baggage-companment id 24882 320 N; Lmax 750, Lmin 406
Koferklapoe Daggage-compariment 24803 420 N; Lmax 750, Lmin 406
Kofferklapps Bagpage-companment id 24885 520 N; Lmax 750, Lavin 406
Kofferklappe baggage-compariment iid 24807 700 N; Lmax 585, Lmin 331
Moterdappe anging bd 26356 500 N; Lmax 685, Lmin 387
Sedenklappe am Radkasten wheel house side bd 24688 75 N, Lmax 255, Lmin 185
Wartrgaklappe sarvice 24893 420 N, Lmax 750, Lmin 406
fobi 24692 febi 24695
Ref. no. 628 750 02 36 Rel. no. 629 750 03 36 Raf, no. 629 750 05 36
o8 a8 a8
= || | |(@=
—— - —— - —
0 Mix1,5 MBx1.5 MEx1,5
Tobi 24697 fobi 24698 fobi 26351 fobi 26352
Ref no, 626 780 07 38 Rel. no. 620 750 08 38 Ref. no. 629 750 18 36 Rel. no. 629 750 16 36
210 o10
= ae & _—a|e
- 26 - o8
@10 @10
fobi 26353 fobi 26358 febi 26356 fobi 26358
Ref. no. 626 750 15 36 Rel. no. 620 750 22 36 Ref. no. 002 980 15 64 Ref. no. 629 750 20 36
Max1 MEx1 810
-— ::/________.--' —
o8 =1 ]
/ /"’: - -
MEx1 Max1 310
10 = TSP —— o atmmgbgnidan G Pt | T ko St by . 8 T ——
www.febi.com



Katalogleitfaden - Catalogue guide - Manuel du catalogue
Guia del catalogo - Guida cataloghi

User notes:
clear and simple

Im febi Katalog befinden sich folgende Angaben:

@ \ehicle type (alphabetically sorted)

© Model (sorted alphabetically/numerically in ascen-
ding order)

© Assembly location

O febino.

© Additional information
(e.g. technical informations or dimension)

@ Reference Number
©@ Photo

&

Para el usuario:
claro y simple

En el catalogo febi se encuentran los
siguientes datos:

@ Tipo de vehiculo (orden alfabético)
© Modelo (orden alfabético)

© Lugar de montaje

O N° de febi

@ Informacién adicional
(p. €j., identificacién por colores o dimensiones)

O Numero de referencia

@ roto

www.febi.com

G,

Information utilisateur :
claire et simple

Les indications suivantes se trouvent
dans le catalogue febi:

@ Type de véhicule (ordre alphabétique)
© Modéle (ordre alphabétique)
© Lieu de montage
O N febi
© Informations complémentaires
(par exemple code couleur ou dimension)
O N de référence
@ Photo

>,

Indicazioni per lI'utente:
chiare e semplici

Nel catalogo febi vi sono i seguenti dati:
@ Tipo veicolo (ordine alfabetico)

© Modello (ordine alfabetico)

© Luogo dinstallazione

O Nr. febi

@ Informazioni supplementari
(p.es. codice colore o dimensioni)
O Nr. di riferimento

@ Foto

Vil



Ref.-No. =——p A8

bilgtein

Ref. - No.

bilstgin |

passend fiir

Evobus

629 750 02 36

24692 | 002; 003; 004, 005;
006; 007; 008; 009

629 750 03 36

010

24693 | 002; 003; 004; 005;
006; 007; 008; 00¢

628750 12 98

625750 14 36 008

629750 15 38 26353 | 003; DO4; DO7; O0B:
00

628 750 16 36 26352 _| 006, DOB; 008 010

628750 18 36 26351 | 002; DI4; 006: 006:
]

628750 20 36 26358 | 002; DO4; 006: 006
00g

628 750 22 36 26355 | 006 DOB; 008 010

000750 30 80 15100 | 001

000 980 10 64 18614 | 0O1

002 880 15 64 26386 | 001; DO3; 004; 005:
0O7; 008; 00%; 010

000 980 49 64 18615 001

000 960 68 64 18615_| 001

000 960 70 64 18614_| 001

90-245-T00 N 14731 |01

55245150 N 14733 o1

I06-BED-410 N 14735 _| 011

MAN

81.628006179 24838 | 013

81746210039 10708 | D12; D13; 014; 015
it

1748210041 10707 | 013; 014: 015

81.74821.0048 19708 | 013 014: 015

0353 502 07695 | 018
1123 862 07695 | 018
1306 482 | osoe7 |01
1360 553 | w71 [oe
1374842 1843|018
T

Volvo

1083670 | niste |15
1511158 | 11582 | 1%
1618106 | 11815 _|0is
1624101 | 1878 [om
3981820 21657 | 018

Vil

@

Ersatzteile finden:
komfortabel und schnell

e Sie kennen den Fahrzeugtyp und haben eine
Referenznummer des Fahrzeugherstellers:

Referenz-Nr. = febi-Nr. = Seitenzahl

¢ Die Anordnung der Referenznummern entspricht der
Sortierreihenfolge der Fahrzeughersteller.

febi-Nr. = Referenz-Nr. = Seitenzahl
¢ Diese Liste ist nach febi-Nr. aufsteigend sortiert.
Hinweis: Eine Liste der Symbole und Abkulrzungen

mit Erklarungen in verschiedenen Sprachen finden
Sie auf der Katalog-Umschlagseite.

www.febi.com



Katalogleitfaden - Catalogue guide - Manuel du catalogue
Guia del catalogo - Guida cataloghi

Find every part:
quick and convenient

e You know the vehicle type and the vehicle
manufacturer‘s reference number:

Reference number => febi number = Page
number

¢ The positioning of the reference numbers
corresponds to the vehicle manufacturers® sorting
sequence.

febi number = Reference number = Page
number

¢ This list is sorted by febi number in ascending order.

Note: On the catalogue cover, you will find a list
of symbols and abbreviations with explanations in
different languages.

&

Busqueda de cualquier
recambio: rapiday
comoda

e Sabe usted cudl es el tipo de vehiculo y tiene un
numero de referencia del fabricante del vehiculo:

N° de referencia = N° de febi =» N° de pagina
¢ |a clasificacidon de los nUmeros de referencia

corresponden al orden de clasificacion de los
fabricantes de vehiculos.

N° de febi = N° de referencia =» N° de pagina

e En esta lista se indican las referencias de febi en
orden ascendiente.

Nota: En la cubierta del catalogo usted encuentra

un listado de todos los simbolos y las abreviaciones
respectivamente, en los diferentes idiomas.

www.febi.com

G,

Trouvez vos piéces
facilement et rapidement

¢ \ous connaissez le type du véhicule et avez la
référence de son constructeur:

Référence = N° febi = Numéro de page

¢ |e classement des références correspond a I'ordre
de classement du constructeur de véhicules.

N° febi = Référence = Numéro de page

e (Cette liste est triée par référence febi, en ordre
croissant.

Note: Sur la couverture du catalogue, vous trouverez
la liste des symboles et des abréviations avec les
explications dans différentes langues.

s

Trovate comodamente
e velocemente i pezzi
di ricambio

e Se si € a conoscenza del tipo di veicolo e inoltre in
possesso di un numero di riferimento del costruttore
del veicolo:

Rif. comparativo = Rif. febi =» Page N°

La classificazione dei numeri di riferimento
corrisponde alla sequenza utilizzata dai costruttori.

Rif. febi = Rif. comparativo = Page N°
e Questa lista € per riferimento febi in ordine crescente.
Nota: Nell‘interno della copertina troverete una lista di

simboli e abbreviazioni e relative spiegazioni in diverse
lingue.



Eigenfertigung - Die Lizenz
fur Spitzenprodukte

»Made in Germany” ist fir uns Anspruch und Qualitats-
zusage zugleich. Im Zuge der stetigen Sortimentser-
weiterung haben wir den Anteil der Eigenfertigungsteile
an unserem Gesamtsortiment deutlich erhéht und
kontinuierlich in die Modernisierung unseres Maschi-
nenparks investiert.

Bereits seit 1844 ist febi in der Metallverarbeitung
aktiv und verfligt damit Uber ein hohes MaB an
Erfahrung. Diese Kombination aus Know-how und
Prazisionstechnik flieBt in die Entwicklung jedes
Serienteils und ermdglicht die Herstellung selbst
anspruchsvollster Produkte.

Wertschopfung produzieren

febi bietet Innen ein komplettes Bearbeitungsspektrum
mit hoher Prazision als Dienstleistung ,,aus einer
Hand” an. Die Fertigungsbereiche umfassen nahezu
die vollstandige Produktionskette: Von Werkzeugbau
und Zerspanung Uber die Harterei bis hin zur

Qualitatssicherung mit eigenem Messraum. Die
Einhaltung héchster Qualitatsstandards bei jedem
Schritt ist fir uns als Hersteller selbstverstandlich.

Herstellerkompetenz
auf allen Ebenen

Vertrauen Sie auf die Fertigungskompetenz aus
dem Hause febi bilstein: Durch einen gezielten
Wissens-Transfer vom Herstellungs- auf den
Beschaffungsprozess legen wir auch bei der
Produktion in unserem Auftrag die gleichen hohen
Qualitatskriterien an wie bei der Eigenfertigung.

Gepriifte febi-Qualitat:

e Made in Germany

e Modernster Maschinenpark

e Breites Bearbeitungsspektrum
e Facharbeiterquote > 80%

Passgenauigkeit und
Prazision stehen bei febi
bilstein an erster Stelle.

Fitting accuracy and
precision is our priority.

www.febi.com



Eigenfertigung - In-house production

Committed to providing
first class products.

»Made in Germany* for us means both high quality
standards and commitment. As we have continuously
developed our range, we have also considerably
increased the proportion of in-house production
parts and constantly invested in high-tech production
technologies.

febi has been machining metal parts since 1844

and is therefore highly experienced in this area. This
combination of knowhow and precision technology
lends itself to the development of every massproduced
product and enables the production of even the most
demanding parts.

Value Creation

febi is a ,,one-stop-shop” for a complete range of
high-precision production services. Our production
processes cover nearly the whole production
spectrum: From tool-making and machining, to
hardening and in-house quality assurance and testing.

www.febi.com

As a manufacturer we recognise the need to maintain
the highest quality standards at every step of the
production process.

Manufacturer competence
at all levels

You can put your trust in febi bilstein’s manufacturing
competence: By transferring know-how from the
manufacturing process to the purchasing process, we
apply the same high quality criteria to both partner
production and in-house production.

Certified febi-quality:

e Made in Germany

e Cutting-edge machinery
e Wide production range

e 80% skilled worker quota

Ein vielseitiger, moderner Maschinenpark
ermoglicht febi bilstein die Herstellung an-
spruchsvoller Teile.

Flexible, modern manufacturing equipment

allows febi bilstein to produce demanding
parts.

Xl



Rundum versorgt
mit Olpumpen von
febi bilstein

Alle von febi produzierten Olpumpen zeich-
nen sich durch ein HéchstmaB an Qualitat
aus. Jedes einzelne Teil wird hochprazise
gefertigt und unterliegt einer strengen 100%
Kontrolle. Damit erwerben Sie Spitzenproduk-
te in Erstausristerqualitat.

Auch in punkto Lieferbarkeit kdnnen Sie
Hdochstleistungen von uns erwarten. Jedes
bestellte Ersatzteil kommt innerhalb kirzes-
ter Zeit in lhre Werkstatt. Unser ausgefeiltes
Logistikkonzept und unser hochmodernes,
automatisches Lager garantieren eine schnel-
le Teileverfligbarkeit und kurze Standzeiten.

Every need is catered
for with febi bilstein
oil pumps

Every oil pump produced by febi is of out-
standing quality. Manufactured to a level of
high precision, each and every part is subject
to rigorous testing. The end result is a first
class OE quality product.

Where availability is concerned, expect only
the best service from us. Every single spare
part is delivered to your workshop in a timely
manner. Our finely tuned logistics and our
modern, automatic warehouse guarantee
quick availability and shorter

repair times.

Fertigung einer Olpumpe - Production of an oil pump

An der CNC-gesteuerten

Drehmaschine , TWIN 42¢
werden Antriebswelle und
Laufwelle gefertigt.

Im zweiten Schritt folgt die
Hartung der Antriebswellen.

Next, the drive shafts
are hardenend.

At the CNC-controlled lathe,

the oil pump drive shafts are

manufactured.

Das Bearbeitungszentrum
flr Gehause und Deckel
(HELLER MC 16).

The machining centre
for housing and cover
(HELLER MC 16).

Am Olpumpenpriifstand
wird jedes Teil unter strengs-
ter Kontrolle geprtift.

In der Endmontage erfolgt
der Zusammenbau von
Gehéause und Deckel.

Assembling the housing and
cover together.

At the oil pump test rig each
part is rigorously tested.

Xl

www.febi.com



Eigenfertigung - In-house production

Achsschenkelbolzensatz
— made by febi

Achsbolzen, Buchsen und Lager sind sicherheitsrelevan-
te VerschleiBteile. MaBliche Abweichungen, zu geringe
Hartungstiefen und mangelnde Qualitdt kénnen u.a. zu
Ausféllen der Lenkung und Beeintrdchtigung der Brems-
wirkung fihren. Dies kann folgenschwere Auswirkungen
haben.

King Pin Sets
— made by febi

King pins, bushes and bearings are safety critical wear
parts. Incorrect dimensions, insufficient hardening and
lack of quality can, amongst other reasons, cause failure
in the steering system and will affect the braking ability.
This can result in serious consequences.

z.B. febi-Nr. 06015
Achsschenkelbolzensatz
passend fur EVOBUS und
Mercedes-Benz LKW

-
O O O

e.g. febi no. 06015
King Pin Set for EVOBUS and
Mercedes-Benz trucks

passgenau — sicher — langlebig - precise — safe — durable

febi bilstein bietet Innen die sichere Alternative: durch die
maBgenaue Fertigung kdnnen Sie sich auf die Qualitat von
febi Achsschenkelbolzen verlassen.

febi bilstein offers the safe alternative: precisely produced
king pins of outstanding quality.

www.febi.com

Xl



Alle NKW-Kataloge

Auch diese Kataloge kdnnten Sie interessieren.
Bitte notieren Sie sich die Katalognummer und
bestellen Sie direkt unter www.febi.com

Dort finden Sie auch eine Ubersicht unseres
umfangreichen PKW-Portfolios.

All Commercial
Vehicle Catalogues

You might find these catalogues of interest as well.
Please note the catalogue number and order
directly from www.febi.com

Here you'll find an overview of our

comprehensive car range.

Linienkataloge NKW - Line Catalogues for Commercial Vehicles

90361 Bremsklotz / Bremsscheibe
Brake Pad / Brake Disc

90203 Elektrik
Electrics

90210 febiplus - D
90211 febiplus - GB

90204 Gasdruckfedern
Gas Pressure Springs

90158 Lenkung und Aufhangung
Steering and Suspension

Buskataloge - Bus Catalogues

PDF EvoBus

PDF EvoBus Citaro
PDF MAN Neoplan
PDF Volvo/Scania Bus
XV

90125 Radbefestigung
Wheel Fastening

90345 Riementriebkomponenten
Belt Drive Components

90207 Stabilisatorlager
Stabilizer Mountings

90220 Wasserpumpen
Water Pumps

90338 Zubehor fir Druckluft, Elektrik
Accessories for Compressed Air, Electrics

Achsenkataloge - Axle Catalogues

PDF BPW

PDF Sauer

Bitte beachten Sie, dass die Bus- und Achsenkataloge
nicht in gedruckter Form vorliegen. Sie kbnnen sie
direkt bei febi anfordern!

Please note that the bus and axle catalogues are

not available in printed form. You can request these
directly from febi!

www.febi.com



Unser Portfolio - Our portfolio E’.“.Ck. (=)
vision

Typenkataloge NKW CD-ROM -
Type Catalogues for Commercial Vehicles CD-ROM

90208 MAN TGA 90779 Scania Serie/Series 4
D,GB, F, I, E, RU, PL D,GB, F, I, E, RU, PL
90160 MB Actros, Axor 90202 Volvo FH 12/16
D, GB, F, |, E, RU, PL D, GB, F, |, E, RU, PL

90209 MB LK-Atego
D, GB, F, |, E, RU, PL

Typenkataloge NKW - Type Catalogues for Commercial Vehicles

90026 DAF - D, GB 90045 Scania - D, GB
90037 Iveco - D, GB 90221 Scania P/G/R/T - D, GB
90219 Iveco Stralis - D, GB 90050 Volvo - D, GB

90039 MAN - D, GB

90206 MAN TGA - D, GB
90218 MAN TGS/TGX - D, GB
90335 MB Actros, Axor - GB

90157 MB L + LP Types, MK + SK Serie/Series,
Actros + Atego - GB

90205 MB LK-Atego - D, GB

90042 Renault - D, GB

Spare Parts to fit

Gummimetalitella fir Fahrworke

Rubber-Matal-Parts for Suspension

ettt paiand For

Ersatzteile passand fir/Spare Parts to fit

Sescial Ednisa

Riementriebkomponenten
Belt drive components

www.febi.com

Ersatrteile passend fiir/Spare Parts to fit

Srastaielie pessend (aSpare Parts te it



Teileubersicht - Parts overview - Nomenclature des
pieces - Lista de piezas - Panoramica degli articoli

®

e

Bl G@—-B = o= =

bilyein

50 N Lmax. 285, Lmin 185 M8/ M8 24844
60 N Lmax 136, Lmin 91 6/6 19711
75N Lmax 266, Lmin 155 6/6 24698
100 N Lmax 196,5, Lmin 130,5 10/10 18431
100 N Lmax 350, Lmin 207 8/8 26352
100 N Lmax. 424, Lmin 254 M8/ M8 24842
150 N Lmax 248, Lmin 166 8/ M8 14733
150 N Lmax 512,5, Lmin 296 M8 / M8 11575
170N Lmax 392, Lmin 234 M8 / M8 21657
200N Lmax 349, Lmin 175 8/8 26353
200 N Lmax 424, Lmin 254 M8/ M8 19707
220 N Lmax 721, Lmin 391 8/8 01449
220 N Lmax 750, Lmin 406 8/ M8 24694
220 N Lmax 755, Lmin 430 10/10 09490
250 N Lmax 315, Lmin 187 M8 / M8 19712
250 N Lmax 485, Lmin 277 10/ 10 09967
250 N Lmax 600, Lmin 343 8/8 11576
300N Lmax 106,5, Lmin 86,5 6/6 18071
320 N Lmax 750, Lmin 406 8/ M8 24692
330 N Lmax 537, Lmin 325 10/ 10 15100
350 N Lmax. 105,5, Lmin 145,5 6/6 24838
350 N Lmax. 393, Lmin 700 M8/ M8 24840
350 N Lmax 424, Lmin 254 M8 / M8 19708
350 N Lmax 923, Lmin 516 M8 / M8 19709
360 N Lmax. 611, Lmin. 346 10/10 24705
380 N Lmax 922, Lmin 490 M8 / M8 19710
410 N Lmax 687, Lmin 378 8/8 14735
420 N Lmax 750, Lmin 406 8/ M8 24693
490 N Lmax 537, Lmin 305 10/10 18614
490N Lmax 539, Lmin 294 10/10 18615
500 N Lmax 685, Lmin 387 M8/ M8 26356
520 N Lmax 580, Lmin 322 8/ M8 24699
520 N Lmax 600, Lmin 332 8/8 10436
520 N Lmax 750, Lmin 406 8/ M8 24695
550 N Lmax 785, Lmin 435 8/8 11582
600 N Lmax. 275,5, Lmin 175,5 8/8 24846
600 N Lmax 486, Lmin 282 10/ 10 24696
630 N Lmax 587,5, Lmin 325,5 8/8 07695
700 N Lmax 245, Lmin 152 8/8 14731
700 N Lmax 585, Lmin 331 10/ 10 24697
770 N Lmax 756, Lmin 443 M8 / M8 26355
800 N Lmax 585, Lmin 331 10/10 24691
900 N Lmax 735, Lmin 430 10/ 10 26351
900 N Lmax 740, Lmin 440 M10 / M10 26354
1050 N Lmax 735, Lmin 432 10/ 10 26358
1100 N Lmax 734, Lmin 434 M10/ M10 26357

XVI

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. | Installation must only be performed by qualified personnel.
Die von uns gelieferten Produkte sind ausschlieBlich dem bestimmungsgemé&Ben Gebrauch zuzufiihren. | The products delivered by us are only to be used as intended.

www.febi.com



passend fur / to fit
‘—I:\. Evobus
— g Gasdruckfedern
bilstein gas pressure spring
:I o passend fiir to fit 2bil @
—— bilstein
MBUE 15
BM 633 Kofferklappe baggage-compartment lid 24699 520 N; Lmax 580, Lmin 322
Kofferklappe baggage-compartment lid 24691 800 N; Lmax 585, Lmin 331
Kofferklappe baggage-compartment lid 24699 520 N; Lmax 580, Lmin 322
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
MBUE 19
BM 633 Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
0O 303
BM 300 Heckklappe hatchback 18614 490 N; Lmax 537, Lmin 305
Heckklappe hatchback 18615 490 N; Lmax 539, Lmin 294
Kofferklappe baggage-compartment lid 15100 330 N; Lmax 537, Lmin 325
BM 600 Kofferklappe baggage-compartment lid 15100 330 N; Lmax 537, Lmin 325
0 309
BM 309 Heckklappe hatchback 18614 490 N; Lmax 537, Lmin 305
Heckklappe hatchback 18615 490 N; Lmax 539, Lmin 294
BM 313 Heckklappe hatchback 18614 490 N; Lmax 537, Lmin 305
Heckklappe hatchback 18615 490 N; Lmax 539, Lmin 294
0 405
BM 357 Kofferklappe baggage-compartment lid 15100 330 N; Lmax 537, Lmin 325
BM 612 Kofferklappe baggage-compartment lid 15100 330 N; Lmax 537, Lmin 325
febi 15100 febi 18614
Ref. no. 000 750 30 80 Ref. no. 000 980 70 64
a10 10
- tom
./’/’—: -
10 10
febi 18615 febi 24691 febi 24699 febi 26356
Ref. no. 000 980 69 64 Ref. no. 629 750 12 36 Ref. no. 629 750 09 36 Ref. no. 002 980 15 64
10 210 o8 M8x1
- -t - “-e ||, -
10 10 M8x1,5 M8x1

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 1



passend fir / to fit

Evobus

Gasdruckfedern
gas pressure spring

g[ﬂ

bilstein

o passend fiir to fit @ @

O 580

Travego 15

BM 629 Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24699 520 N; Lmax 580, Lmin 322
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24696 600 N; Lmax 486, Lmin 282
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Kofferklappe baggage-compartment lid 24691 800 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
Seitenklappe am Radkasten wheel house side lid 24698 75 N; Lmax 266, Lmin 155
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
Wartungsklappe service lid 24695 520 N; Lmax 750, Lmin 406

BM 632 Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Kofferklappe baggage-compartment lid 26351 900 N; Lmax 735, Lmin 430
Kofferklappe baggage-compartment lid 26358 1050 N; Lmax 735, Lmin 432

febi 24691 febi 24692 febi 24693

Ref. no. 629 750 12 36
10

Ref. no. 629 750 02 36
a8

Ref. no. 629 750 03 36
a8

Ref. no. 629 750 05 36
a8

Ref. no. 629 750 06 36
710

Ref. no. 629 750 07 36
10

L= Qe Qe
--s -l )
@10 M8x1,5 M8x1,5
febi 24695 febi 24696 febi 24697 febi 24698

Ref. no. 629 750 08 36

M8x1,5

10

M8x1

6 ) B &L= 26
M8x1,5 10 10
febi 24699 febi 26351 febi 26356 febi 26358
Ref. no. 629 750 09 36 Ref. no. 629 750 19 36 Ref. no. 002 980 15 64 Ref. no. 629 750 20 36
g8 10 M8x1 10
Qum || - o e

10

2 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.




passend fur / to fit

Evobus

Gasdruckfedern

bilstein gas pressure spring
:I o passend fiir to fit 2bil @
— bilstein
O 580
Travego 15
BM 632 Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
Wartungsklappe service lid 26353 200 N; Lmax 349, Lmin 175
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
O 580
Travego 16
BM 629 Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Seitenklappe am Radkasten wheel house side lid 24698 75 N; Lmax 266, Lmin 155
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
Wartungsklappe service lid 24695 520 N; Lmax 750, Lmin 406
BM 632 Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
febi 24692 febi 24693 febi 24695
Ref. no. 629 750 02 36 Ref. no. 629 750 03 36 Ref. no. 629 750 05 36
a8 a8 a8
Gl Gl Gl
== == ==
M8x1,5 M8x1,5 M8x1,5
febi 24697 febi 24698 febi 26353 febi 26356
Ref. no. 629 750 07 36 Ref. no. 629 750 08 36 Ref. no. 629 750 15 36 Ref. no. 002 980 15 64
@10 M8x1
= AL J8 i
- 26 o : e
10 M8x1
Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 3




passend fir / to fit ®
Evobus ‘E -
Gasdruckfedern '
gas pressure spring bilsiei n
:I o passend fiir to fit @ @
— bilstein
O 580
Travego 17
BM 629 Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
Wartungsklappe service lid 24695 520 N; Lmax 750, Lmin 406
Seitenklappe am Radkasten wheel house side lid 24698 75 N; Lmax 266, Lmin 155
BM 632 Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Kofferklappe baggage-compartment lid 26351 900 N; Lmax 735, Lmin 430
Kofferklappe baggage-compartment lid 26358 1050 N; Lmax 735, Lmin 432
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
Wartungsklappe service lid 26353 200 N; Lmax 349, Lmin 175
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
febi 24692
Ref. no. 629 750 02 36
8
i
L=
M8x1,5
febi 24693 febi 24695 febi 24697 febi 24698
Ref. no. 629 750 03 36 Ref. no. 629 750 05 36 Ref. no. 629 750 07 36 Ref. no. 629 750 08 36
a8 a8 g 10
- - -
M8x1,5 M8x1,5 10
febi 26351 febi 26353 febi 26356 febi 26358
Ref. no. 629 750 19 36 Ref. no. 629 750 15 36 Ref. no. 002 980 15 64 Ref. no. 629 750 20 36
@10 M8x1 @10
g8 ;
-// - | & -//-
Jg10 M8x1 g10

4 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.



passend fur / to fit
‘—I:\. Evobus
— g Gasdruckfedern
bilstein gas pressure spring
:I o passend fiir to fit @ @
— bilstein
S 411
BM 629 Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Motoklappe engine lid 26355 770 N; Lmax 756, Lmin 443
Seitenklappe am Radkasten wheel house side lid 24698 75 N; Lmax 266, Lmin 155
S 412
BM 633 Kofferklappe baggage-compartment lid 24699 520 N; Lmax 580, Lmin 322
Kofferklappe baggage-compartment lid 24691 800 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
febi 24691
Ref. no. 629 750 12 36
10
2=
/
10
febi 24692 febi 24693 febi 24695 febi 24697
Ref. no. 629 750 02 36 Ref. no. 629 750 03 36 Ref. no. 629 750 05 36 Ref. no. 629 750 07 36
@8 o8 @8 210
fo = fo = fo = 8=
M8x1,5 M8x1,5 M8x1,5 g10
febi 24698 febi 24699 febi 26355 febi 26356
Ref. no. 629 750 08 36 Ref. no. 629 750 09 36 Ref. no. 629 750 22 36 Ref. no. 002 980 15 64
a8 M8x1 M8x1
26 oo || - ||, -
M8x1,5 M8x1 M8x1

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 5



passend fir / to fit

Evobus — ‘E -
Gasdruckfedern '
gas pressure spring bilsiei n
gl B passend fiir to fit @ @
—{ bilstein
S 415
BM 629 Kofferklappe baggage-compartment lid 26352 100 N; Lmax 350, Lmin 175
Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Kofferklappe baggage-compartment lid 24691 800 N; Lmax 585, Lmin 331
Kofferklappe baggage-compartment lid 26351 900 N; Lmax 735, Lmin 430
Kofferklappe baggage-compartment lid 26354 900 N; Lmax 740, Lmin 440
Kofferklappe baggage-compartment lid 26357 1100 N; Lmax 734, Lmin 434
Kofferklappe baggage-compartment lid 26358 1050 N; Lmax 735, Lmin 432
Motorklappe engine lid 26355 770 N; Lmax 756, Lmin 443
Seitenklappe am Radkasten wheel house side lid 24698 75 N; Lmax 266, Lmin 155
febi 24691 febi 24692 febi 24693 febi 24695

Ref. no. 629 750 12 36
10

T

Ref. no. 629 750 02 36
a8

%

Ref. no. 629 750 03 36
a8

%

Ref. no. 629 750 05 36
a8

%

Ref. no. 629 750 11 36
M10x1

M10x1

Ref. no. 629 750 22 36
M8x1

® 2

M8x1

Ref. no. 629 750 14 36
M10x1

. -

M10x1

g10 M8x1,5 M8x1,5 M8x1,5
febi 24697 febi 24698 febi 26351 febi 26352
Ref. no. 629 750 07 36 Ref. no. 629 750 08 36 Ref. no. 629 750 19 36 Ref. no. 629 750 16 36
@10 10
2 - 26 -f:__’,/ 28
//- 26 - o8
febi 26354 febi 26355 febi 26357 febi 26358

Ref. no. 629 750 20 36
g10

= e

10

6 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.




passend fur / to fit

Evobus

Gasdruckfedern

bilstein gas pressure spring
:I o passend fiir to fit @ @
—C‘J— bilstein
S 415
BM 629 Wartungsklappe service lid 26353 200 N; Lmax 349, Lmin 175
BM 632 Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24699 520 N; Lmax 580, Lmin 322
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Kofferklappe baggage-compartment lid 24691 800 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
Seitenklappe am Radkasten wheel house side lid 24698 75 N; Lmax 266, Lmin 155
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
BM 633 Kofferklappe baggage-compartment lid 24699 520 N; Lmax 580, Lmin 322
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
febi 24691
Ref. no. 629 750 12 36
10
/
ag10
febi 24692 febi 24693 febi 24695 febi 24697
Ref. no. 629 750 02 36 Ref. no. 629 750 03 36 Ref. no. 629 750 05 36 Ref. no. 629 750 07 36
g8 a8 g8 10
fo = fo = fo = 8=
- - s -—
M8x1,5 M8x1,5 M8x1,5 @10
febi 24698 febi 24699 febi 26353 febi 26356
Ref. no. 629 750 08 36 Ref. no. 629 750 09 36 Ref. no. 629 750 15 36 Ref. no. 002 980 15 64
a8 M8x1
@ 6 Qe 28 -
g6 s 8 - -
M8x1,5 M8x1
Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 7




passend fir / to fit ®
Evobus ] ‘E -
Gasdruckfedern '
gas pressure spring bilsiei n
:I o passend fiir to fit @ @
— bilstein
S 416
BM 629 Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 26351 900 N; Lmax 735, Lmin 430
Kofferklappe baggage-compartment lid 26352 100 N; Lmax 350, Lmin 175
Kofferklappe baggage-compartment lid 26358 1050 N; Lmax 735, Lmin 432
Motorklappe engine lid 26355 770 N; Lmax 756, Lmin 443
Wartungsklappe service lid 26353 200 N; Lmax 349, Lmin 175
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
BM 632 Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
Seitenklappe am Radkasten wheel house side lid 24698 75 N; Lmax 266, Lmin 155
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
febi 24692 febi 24693 febi 24695
Ref. no. 629 750 02 36 Ref. no. 629 750 03 36 Ref. no. 629 750 05 36
a8 8 a8
Gl Gl Tl
== =22 =
M8x1,5 M8x1,5 M8x1,5
febi 24697 febi 24698 febi 26351 febi 26352
Ref. no. 629 750 07 36 Ref. no. 629 750 08 36 Ref. no. 629 750 19 36 Ref. no. 629 750 16 36
210 @10
= oe :__,/ 28
//- @6 = 28
210 210
febi 26353 febi 26355 febi 26356 febi 26358
Ref. no. 629 750 15 36 Ref. no. 629 750 22 36 Ref. no. 002 980 15 64 Ref. no. 629 750 20 36
M8x1 M8x1 10
. —— . - —2
M8x1 M8x1 10

8 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.



passend fur / to fit
] E Evobus
— g Gasdruckfedern
bilstein gas pressure spring
:I o passend fiir to fit @ @
— bilstein
S 417
BM 629 Kofferklappe baggage-compartment lid 26352 100 N; Lmax 350, Lmin 207
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 26351 900 N; Lmax 735, Lmin 430
Kofferklappe baggage-compartment lid 26358 1050 N; Lmax 735, Lmin 432
Motorklappe engine lid 26355 770 N; Lmax 756, Lmin 443
Wartungsklappe sevice lid 26353 200 N; Lmax 349, Lmin 175
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
BM 632 Kofferklappe baggage-compartment lid 24692 320 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24695 520 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24697 700 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
Seitenklappe am Radkasten wheel house side lid 24698 75 N; Lmax 266, Lmin 155
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
febi 24692 febi 24693 febi 24695
Ref. no. 629 750 02 36 Ref. no. 629 750 03 36 Ref. no. 629 750 05 36
8 o8 8
i i i
=22 =22 =22
M8x1,5 M8x1,5 M8x1,5
febi 24697 febi 24698 febi 26351 febi 26352
Ref. no. 629 750 07 36 Ref. no. 629 750 08 36 Ref. no. 629 750 19 36 Ref. no. 629 750 16 36
210 e 710
LS /-" a8
//- J6 L o8
@10 210
febi 26353 febi 26355 febi 26356 febi 26358
Ref. no. 629 750 15 36 Ref. no. 629 750 22 36 Ref. no. 002 980 15 64 Ref. no. 629 750 20 36
M8x1 M8x1 10
. —— . - -2
M8x1 M8x1 210

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 9



passend fir / to fit

Evobus ‘E -
Gasdruckfedern '
gas pressure spring bilsiei n
:I o passend fiir to fit @ @
— bilstein
S 417
BM 633 Kofferklappe baggage-compartment lid 24699 520 N; Lmax 580, Lmin 322
Kofferklappe baggage-compartment lid 24691 800 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
S 419
BM 633 Kofferklappe baggage-compartment lid 24699 520 N; Lmax 580, Lmin 322
Kofferklappe baggage-compartment lid 24691 800 N; Lmax 585, Lmin 331
Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
S 431
BM 410 Kofferklappe baggage-compartment lid 26352 100 N; Lmax 350, Lmin 207
Kofferklappe baggage-compartment lid 24694 220 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 24693 420 N; Lmax 750, Lmin 406
Kofferklappe baggage-compartment lid 26352 100 N; Lmax 350, Lmin 207
Motorklappe engine lid 26355 770 N; Lmax 756, Lmin 443
Wartungsklappe service lid 24693 420 N; Lmax 750, Lmin 406
Tourismo 15
BM 632 Motorklappe engine lid 26356 500 N; Lmax 685, Lmin 387
febi 24691 febi 24693 febi 24694
Ref. no. 629 750 12 36 Ref. no. 629 750 03 36 Ref. no. 629 750 04 36
10 8
8= fo = fo =
- - e
210 M8x1,5 M8x1,5
febi 24699 febi 26352 febi 26355 febi 26356
Ref. no. 629 750 09 36 Ref. no. 629 750 16 36 Ref. no. 629 750 22 36 Ref. no. 002 980 15 64
28 M8x1 M8x1
o | a8 o8 P :/
s . - ||, e

M8x1,5

M8x1

M8x1

10

Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.




passend fur / to fit
‘—I:\. Evobus
— g Gasdruckfedern
bilstein gas pressure spring
:I o passend fiir to fit 2bil @
— bilstein
Kofferklappe baggage-compartment lid 14731 700 N; Lmax 245, Lmin 152
Motorklappe engine lid 14735 410 N; Lmax 687, Lmin 378

- - 14733 150 N; Lmax 248, Lmin 166

febi 14731 febi 14733 febi 14735
Ref. no. 90 -245- 700 N Ref. no. 59 -249- 15 N Ref. no. 306 -689- 410 N
o8
V Mg/ SW13 //-
o8 | @8 &
a8

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 1 1



passend fir / to fit ®
MAN B -
Gasdruckfedern '
as pressure sprin . .
gasp pring bilstein
:I B passend fiir to fit 2bil @
—— bilstein
F8
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
F 90
Batterieraumklappe battery compartment door 19712 250 N; Lmax 315, Lmin 187
Handschuhfach glove compartment 19711 060 N; Lmax 136, Lmin 91
Motorklappe engine lid 01449 220 N; Lmax 721; Lmin 391
Wartungsklappe service lid 19712 250 N; Lmax 315, Lmin 187
F 2000
Batterieraumklappe battery compartment door 19712 250 N; Lmax 315, Lmin 187
Fremdwasseranschlussklappe flap outside water connection 24844 050 N; Lmax. 185, Lmin 285
Motorklappe engine lid 01449 220 N; Lmax 721; Lmin 391
Schlafliege bunk 24846 600 N; Lmax.175,5, Lmin 275,5
Wartungsklappe service lid 19708 350 N; Lmax. 424, Lmin 254
Wartungsklappe service lid 19712 250 N; Lmax 315, Lmin 187
M 90
Batterieraumklappe battery compartment door 19712 250 N; Lmax 315, Lmin 187
Motorklappe engine lid 01449 220 N; Lmax 721; Lmin 391
Wartungsklappe service lid 19712 250 N; Lmax 315, Lmin 187
M 2000
Batterieraumklappe battery compartment door 19712 250 N; Lmax 315, Lmin 187
Motorklappe engine lid 01449 220N
Wartungsklappe service lid 19712 250 N; Lmax 315, Lmin 187
OAF
Motorklappe engine lid 01449 220 N; Lmax 721; Lmin 391

6

A

M8x1

M8x1
1 M8x1

febi 01449 febi 19708
Ref. no. 81.74821.0095 Ref. no. 81.74821.0039
a8 M8/ SW 13
o - :
,,/"/"’.: m
&8 M8/ SW 13
febi 19711 febi 19712 febi 24844 febi 24846
Ref. no. 81.74821.0065 Ref. no. 81.74821.0104 Ref. no. 81.74821.0110 Ref. no. 81.74821.0107
a6
M8xA1 g 58

g8

1 2 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.




passend fur / to fit

: ‘E MAN

— g Gasdruckfedern
bilstein gas pressure spring
:I o passend fiir to fit @ @
—— bilstein
TGA
Aeropaket Seitenteil aero deflector kit side trim 24838 350 N; Lmax.105,5, Lmin145,5
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
EEL
Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700
EL
Heizraumklappe heater compartment flap 19707 200 N; Lmax 424, Lmin 254
Motorklappe engine lid 19709 350 N; Lmax 923, Lmin 516
Motorklappe engine lid 19710 380 N; Lmax 922, Lmin 490
Schalterkastenklappe switch box flap
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
F8
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
FRH
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
HOCL /R
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
Liftungsgitter cooling air grille 24842 100 N; Lmax. 424, Lmin 254
Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700
febi 19707 febi 19708 febi 19709 febi 19710
Ref. no. 81.74821.0041 Ref. no. 81.74821.0039 Ref. no. 81.74821.0048 Ref. no. 81.74821.0068
M8 / SW 13 M8/ SW 13 M8 / SW 13 M8 / SW 13
- - - i
M - - -
M8/ SW 13 M8/ SW 13 M8/ SW 13 M8 /SW 13
febi 19711 febi 24838 febi 24842 febi 24840
Ref. no. 81.74821.0065 Ref. no. 81.62900.6179 Ref. no. 81.74821.0084 Ref. no. 81.74821.0063
g6 ] |
T - = -
a6 e @
06 28 M8x1,5

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 1 3



passend fir / to fit ®
MAN B -
Gasdruckfedern '
as pressure sprin . .
gas p pring bilstein
:I o passend fiir to fit 2bil @
— bilstein
N
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
Heizraumklappe heater compartment flap 19707 200 N; Lmax 424, Lmin 254
Fremdwasseranschlussklappe flap outside water connection 24844 50 N; Lmax. 185, Lmin 285
Liftungsgitter cooling air grille 24842 100 N; Lmax. 424, Lmin 254
Motorklappe engine lid 19709 350 N; Lmax 923, Lmin 516
Motorklappe engine lid 19710 380 N; Lmax 922, Lmin 490
Schalterkastenklappe switch box flap 19707 200 N; Lmax 424, Lmin 254
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
NG
Batterieraumklappe battery compartment door 19712 250 N; Lmax 315, Lmin 187
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
Heizraumklappe heater compartment flap 19707 200 N; Lmax 424, Lmin 254
Fremdwasseranschlussklappe flap outside water connection 24844 50 N ;Lmax. 285, Lmin 185
Motorklappe engine lid 19709 350 N; Lmax 923, Lmin 516
Motorklappe engine lid 19710 380 N; Lmax 922, Lmin 490
NG
Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700
Schalterkastenklappe switch box flap 19707 200 N; Lmax 424, Lmin 254
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 250
Wartungsklappe service lid 19712 250 N; Lmax 315, Lmin 187
febi 19707
Ref. no. 81.74821.0041
M8x1
®_——9
M8x1
febi 19708 febi 19709 febi 19710 febi 19711
Ref. no. 81.74821.0039 Ref. no. 81.74821.0048 Ref. no. 81.74821.0068 Ref. no. 81.74821.0065
a8 g8 a8 M8x1
- - e eSS ¢
M8x1,5 M8x1,5 M8x1,5 M8x1
febi 19712 febi 24840 febi 24842 febi 24844

Ref. no. 81.74821.0104
M8 /SW 13

A
\p-‘

M8 /Sw 13

Ref. no. 81.74821.0063

g6

a8

Jde

Ref. no. 81.74821.0084

a8

Ref. no. 81.74821.0110

M8x1,5 !

%5

1 4 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.



passend fur / to fit

MAN

Gasdruckfedern

bilstein gas pressure spring
Q B passend fiir to fit @ @
—{ bilstein

NL
Batterieraumklappe battery compartment door 19712 250 N; Lmax 315, Lmin 187
Fremdwasseranschlussklappe flap outside water connection 24844 50 N; Lmax. 185, Lmin 285
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
Heizraumklappe heater compartment flap 19707 200 N; Lmax 424, Lmin 254
Motorklappe engine lid 19709 350 N; Lmax 923, Lmin 516
Motorklappe engine lid 19710 380 N; Lmax 922, Lmin 490
Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700
Schalterkastenklappe switch box flap 19707 200 N; Lmax 424, Lmin 254
Wartungsklappe service lid 19712 250 N; Lmax 315, Lmin 187
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 250

NUE
Batterieraumklappe battery compartment door 19712 250 N; Lmax 315, Lmin 187
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
Fremdwasseranschlussklappe flap outside water connection 24844 50 N ;Lmax. 285, Lmin 185
Heizraumklappe heater compartment door 19707 200 N; Lmax 424, Lmin 254
Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700
Schalterkastenklappe switch box flap 19707 200 N; Lmax 424, Lmin 254
Wartungsklappe service lid 19712 250 N; Lmax 315, Lmin 187

RH

(Lions Coach) Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700

RU
Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700

M8 /SW 13

febi 19707 febi 19708 febi 19709 febi 19710
Ref. no. 81.74821.0041 Ref. no. 81.74821.0039 Ref. no. 81.74821.0048 Ref. no. 81.74821.0068
M8/ SW 13 M8/ SW 13 M8/ SW 13 M8/ SW 13
w//"——: e . -
M8/ SW 13 M8 / SW 13 M8/ SW 13 M8/ SW 13
febi 19711 febi 19712 febi 24840 febi 24844
Ref. no. 81.74821.0065 Ref. no. 81.74821.0104 Ref. no. 81.74821.0063 Ref. no. 81.74821.0110
36 M8 / SW 13 M8x1,5 M8x1,5 ‘
— BN 3| | - .
/‘ o ‘_
a6 M8x1,5

M8x1,5

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff.

15



passend fir / to fit ®
MAN B -
Gasdruckfedern '
as pressure sprin . .
gas p pring bilstein
:I o passend fiir to fit 2bil @
—C‘J— bilstein
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
Luftungsgitter cooling air grille 24842 100 N; Lmax. 424, Lmin 254
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
SL
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
Luftungsgitter cooling air grille 24842 100 N; Lmax. 424, Lmin 254
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
SR
Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
SUE
Handschuhfach glove compartment 19711 60 N; Lmax 136, Lmin 91
Wartungsklappe service lid 19708 350 N; Lmax 424, Lmin 254
UEL
Motorklappe engine lid 24840 350 N; Lmax. 393, Lmin 700
febi 19708 febi 19711 febi 24840 febi 24842
Ref. no. 81.74821.0039 Ref. no. 81.74821.0065 Ref. no. 81.74821.0063 Ref. no. 81.74821.0084
M8x1,5
M8 /SW 13 76 a8
e s e
@6 M8x1,5 o8

M8 /SW 13

1 6 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.




passend fur / to fit

— ] ‘E Mercedes Benz

— Gasdruckfedern

bilsiei n gas pressure spring
g o passend fiir to fit @ @

Actros I+li

Motorklappe engine lid 24705 360 N; Lmax. 611, Lmin. 346
MK-SK
Motorklappe engine lid 09490 220 N; Lmax 755, Lmin 430
febi 18614 febi 24691
Ref. no. 000 980 69 64 Ref. no. 629 750 12 36
210 10
.,__,_._.-—'-"""__'__F - .///“
210 10

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 1 7



passend fir / to fit ®
Scania E ~
Gasdruckfedern '
as pressure sprin . .
gas p pring bilstein
:I o passend fiir to fit 2bil @
—C‘J— bilstein
Serie 2
Motorklappe engine lid 10436 520 N; Lmax 600, Lmin 332
Serie 3
Motorklappe engine lid 07695 630 N; Lmax 587,5, Lmin 325,5
Serie 4
Fahrerhaus Eckabweisweiser cabin corner air draft deflektor 18071 300 N; Lmax 106,5, Lmin 86,5
Motorklappe engine lid 09967 250 N; Lmax 485, Lmin 277
Motorklappe engine lid 18071 300 N; Lmax 106,5, Lmin 86,5
klappbares Trittbrett retractable boarding step 18431 100 N; Lmax 196,5, Lmin 130,5
febi 07695

Ref. no. 1 123 692
a8

>

a8

febi 09967
Ref. no. 1 306 492

710

M

10

febi 10436

Ref. no. 0 322 929

&

febi 18071

g8

Ref. no. 1 369 553

o6
- - Z6

febi 18431
Ref. no. 1 374 642

10

& 10

1 8 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.




passend fur / to fit

Volvo

Gasdruckfedern

bilstein gas pressure spring
:I o passend fiir to fit 2bil @
—C‘J— bilstein
F10
Motorklappe engine lid 11576 250 N; Lmax 600, Lmin 343
Windabweiser wind deflector 11582 550 N; Lmax 785, Lmin 435
Motorklappe engine lid 11582 550 N; Lmax 785, Lmin 435
F12
Motorklappe engine lid 11576 250 N; Lmax 600, Lmin 343
Windabweiser wind deflector 11582 550 N; Lmax 785, Lmin 435
Motorklappe engine lid 11582 550 N; Lmax 785, Lmin 435
F 16
Motorklappe engine lid 11576 250 N; Lmax 600, Lmin 343
Motorklappe engine lid 11582 550 N; Lmax 785, Lmin 435
Windabweiser wind deflector 11582 550 N; Lmax 785, Lmin 435
FH 12
Motorklappe engine lid 11575 150 N; Lmax 512,5, Lmin 296
Staukasten locker 21657 170 N; Lmax 392, Lmin 234
FH 16
Motorklappe engine lid 11575 150 N; Lmax 512,5, Lmin 296
Staukasten locker 21657 170 N; Lmax 392, Lmin 234
FL7
Motorklappe engine lid 11582 550 N; Lmax 785, Lmin 435
Windabweiser wind deflector 11582 550 N; Lmax 785, Lmin 435
FL 10
Motorklappe engine lid 11582 550 N; Lmax 785, Lmin 435
Windabweiser wind deflector 11582 550 N; Lmax 785, Lmin 435
FL 12
Motorklappe engine lid 11582 550 N; Lmax 785, Lmin 435
Windabweiser wind deflector 11582 550 N; Lmax 785, Lmin 435
NH 12
Staukasten locker 21657 170 N; Lmax 392, Lmin 234

febi 11575 febi 11576 febi 11582 febi 21657
Ref. no. 1619106 Ref. no. 1083670 Ref. no. 1611159 Ref. no. 3981920
M3 @8 28 210
M8 8 98 M8
Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 1 9



-
bilstein
Ref. - No. @
bilstein

81.74821.0063 24840 |013;014;015;016
81.74821.0065 19711 | 012; 013; 014; 015;

016
81.74821.0068 19710 |013; 014; 015
81.74821.0084 24842 | 014;016; 013
81.74821.0095 01449 |012
81.74821.0104 19712 |012; 014; 015
81.74821.0107 24846 | 012
81.74821.0110 24844 |012;014; 015
passend fiir
Mercedes Benz
000 980 62 64 09490 |017
000 980 90 64 09490 |017
001 980 84 64 24705 | 017
passend fiir
Scania
0 322 929 10436 |018
0 341 292 07695 |018
0 341299 07695 | 018
0 353 592 07695 |018
1123 692 07695 |018
1306 492 09967 |018
1369 553 18071 |018
1374 642 18431 (018
passend fiir
Volvo
1083670 11576 | 019
1611159 11582 | 019
1619106 11575 |019
1624101 11576 |019
3981920 21657 | 019

Ref. ) N°| q bilstein _O_
Ref. - No. febj
bilstein

passend fiir

Evobus

629 750 02 36 24692 | 002; 003; 004, 005;
006; 007; 008; 009

629 750 03 36 24693 | 002; 003; 004; 005;
006; 007; 008; 009;
010

629 750 04 36 24694 | 010

629 750 05 36 24695 | 002; 003; 004; 005;
006; 007; 008; 009

629 750 06 36 24696 | 002

629 750 07 36 24697 | 002; 003; 004; 006;
007; 008; 009

629 750 08 36 24698 | 002; 003; 004; 005,
006; 007; 008; 009

629 750 09 36 24699 | 001; 002; 005; 007;
010

629 750 11 36 26354 | 006

629 750 12 36 24691 | 001; 002; 005; 006;
007; 010

629 750 14 36 26357 | 006

629 750 15 36 26353 | 003; 004; 007; 008;
009

629 750 16 36 26352 | 006, 008; 009; 010

629 750 19 36 26351 |002; 004; 006; 008;
009

629 750 20 36 26358 | 002; 004; 006; 008;
009

629 750 22 36 26355 | 006; 008; 009; 010

000 750 30 80 15100 | 001

000 980 10 64 18614 | 001

002 980 15 64 26356 |001; 003; 004; 005;
007; 008; 009; 010

000 980 49 64 18615 | 001

000 980 69 64 18615 | 001

000 980 70 64 18614 | 001

90-245-700 N 14731 | 011

59-249-150 N 14733 | 011

306-689-410 N 14735 | 011

passend fiir

MAN

81.62900.6179 24838 | 013

81.74821.0039 19708 | 012; 013; 014; 015;
016

81.74821.0041 19707 | 013; 014; 015

81.74821.0048 19709 | 013; 014; 015

20 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.



bilstein

bilstein

:E : ®—> Ref. - No.

@ Ref. - No. % @ Ref. - No. %
01449 | 81.74821.0095 012 24696 | 629 750 06 36 002
07695 | 1123 692 018 24697 | 629 750 07 36 002; 003; 004; 006;
07695 |0 341292 018 007; 008; 009
07695 | 0 353 592 018 24698 | 629 750 08 36 002; 003; 004; 005,
07695 |0 341 299 018 006: 007; 008; 009
25290 | 000 950 50 64 e 24699 | 629 750 09 36 8(1)(1); 002; 005: 007;
09490 | 000 980 62 64 017 22705 001 980 84 64 YE
09967 |RENEe " 018 24838 | 81.62900.6179 013
10436 | 0522929 018 24840 |81.74821.0063 013: 014: 015; 016
11575 R 019 24842 | 81.74821.0084 013: 014; 016
11576 N THL 019 24844 | 81.74821.0110 012; 014: 015
11576 [i62ai0d 019 24846 | 81.74821.0107 012
11552 RN 019 26351 | 629 750 19 36 002; 004; 006; 008;
14731 | 90-245-700 N 011 009
14733 | 59-249-150 N 011 26352 | 629 750 16 36 006, 008; 009; 010
14735 | 306-689-410 N o1 26353 |629 750 15 36 003; 004; 007; 008;
15100 | 000 750 30 80 001 009
15100 | 000 750 30 80 001 26354 | 629 750 11 36 006
18071 | 1369 553 018 26355 | 629 750 22 36 006; 008; 009; 010
18431 | 1374642 018 26356 | 002 980 15 64 001: 003: 004: 005:
18614 | 000 980 70 64 001 007; 008; 009; 010
18614 1000 980 10 64 001 26357 | 629 750 14 36 006
18615 | 000 980 69 64 001
18615 | 000 980 49 64 001
19707 | 81.74821.0041 013: 014: 015
19708 | 81.74821.0039 012; 013; 014;

015: 016
19709 | 81.74821.0048 013; 014; 015
19710 | 81.74821.0068 013: 014: 015
19711 | 81.74821.0065 012; 013; 014;

015: 016
19712 | 81.74821.0104 012; 014; 015
21657 | 3981920 019
24691 | 629 750 12 36 001; 002; 005

006: 007: 010
24692 | 629 750 02 36 002; 003; 004,

005; 006; 007;

008: 009
24693 | 629 750 03 36 002: 003: 004:

005:006: 007: 008:

009: 010
24694 | 629 750 04 36 010
24695 | 629 750 05 36 002; 003; 004; 005;

006: 007; 008; 009

Der Einbau darf nur durch geschultes Fachpersonal erfolgen. / The installation may exclusively be performed by trained staff. 21



Ubersetzungen
Translations

. -
Tracuctions ‘E
Traducciéns ———
Traduzioni b| | stein
deutsch english francais
Aeropaket Seitenteil aero deflector kit side trim kit aerodynamique panneau
lat.
Batterieraumklappe battery compartment door portillon compart. & batteries
Fahrerhaus Eckabweisweiser | cabin corner air draft deflektor | cabine déflecteur de vent
d‘angle
Fremdwasseranschlussklappe | flap outside water connection | portillon pour raccord pour
eau exterieure
Handschuhfach glove compartment boite a gants
Heckklappe hatchback hayon arriere
Heizraumklappe heater compartment flap portillon compartim. chauffage
Trittbrett, klappbar boarding step, retractable marche-pied, rabattable
Kofferklappe baggage-compartment lid hayon de coffre a bagages
Luftungsgitter cooling air grille grille de ventilation
Motorklappe engine lid capot moteur
Schalterkastenklappe switch box flap portillon de boitier
Schlafliege bunk couchette
Seitenklappe am Radkasten wheel house side lid trappe latérale, cété roue
Staukasten locker caisse
Wartungsklappe service lid trappe d‘entretien
Windabweiser wind deflector déflecteur de vent
Symbole
Symbols
Symboles
Simbolos
Simboli
@® febi - Nr. febi-no. n° febi
bilstein
Referenznummer reference number référence
Ref. - No.
Seite page page
Abmessung dimension dimension

-
®

weitere Angaben

additional specifications

information additionnelle

22 Die von uns gelieferten Produkte sind ausschlieRlich dem bestimmungsgeméaRen Gebrauch zuzufiihren. / The products delivered by us are to be put exclusively to the intended use.






1

4702781690204




